OCR-style exam questions

Answer the questions by typing your answers into the red boxes.
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  Assessment: The League of Nations
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This cartoon – ‘The Cat and Mouse Act (new version)’ – appeared in the British newspaper, the Evening Standard, on 17 February 1933. 
The words on the terrified cat say: ‘World Statesmanship’, while on the back of the mouse (who is making a tiny ‘Grrrr’) is the word: ‘Jap’.
     
1
Study the cartoon.  What is the message of this cartoon?  Use the details of the cartoon and your knowledge to explain your answer. 
[7]

2
What were the main powers of the League of Nations? 
[4]

     
3
Explain why some historians say the League of Nations was successful in the 1920s.
[8]
     
4
‘The League failed to stop the Second World War; how much of a failure do you want?’  How far was the League of Nations a success?  Explain your answer.
[10]

     
Markscheme

1
Study the cartoon.  What is the message of this cartoon?  Use the details of the cartoon and your knowledge to explain your answer. 
[7]

	L1
	· Describes surface features of the cartoon

· Describes significant features of the cartoon
	1

2

	L2
	· States basic meaning of the cartoon

· Explains meaning of cartoon, somewhat extended
	3

4

	L3
	Extended explanation EITHER referring to visual details of the cartoon OR relating it to the cartoon’s historical context
	5-6

	L4
	Extended explanation referring BOTH to visual details of the cartoon AND relating it to the cartoon’s historical context
	7


2
What were the main powers of the League of Nations? 
[4]

	
	Offers shallow/general statement only
	1

	
	Award one mark for each correct statement, and one mark for each piece of ‘proving evidence’
	- max 4


3
Explain why some historians say the League of Nations was successful in the 1920s.
[8]
	L1
	Offers shallow/general statement only
	1-2

	L2
	Identifies basic ways it was successful, without (or with little) elaboration, one mark for each correct statement
	3-4

	L3
	Answer includes ONE properly explained way it was successful, supported by evidence or contextual knowledge
	5-6

	L4
	Answer includes TWO OR MORE properly explained ways it was successful, supported by evidence or contextual knowledge
	7-8


4
‘The League failed to stop the Second World War; how much of a failure do you want?’  How far was the League of Nations a success?  Explain your answer.
[10]

	L1
	Offers shallow/general statement(s) only
	1-2

	L2
	Identifies basic ways it was successful or unsuccessful, without (or with little) elaboration, one mark for each correct statement
	3-4

	L3
	Answer includes ONE properly explained way it was successful or unsuccessful, supported by evidence or contextual knowledge
	5-6

	L4
	Answer includes TWO OR MORE properly explained ways, supported by evidence or contextual knowledge, SO AS TO ADDRESS BOTH SIDES OF THE QUESTION
	7-9

	L5
	As L4, but finishes with a evaluation which makes a judgement of ‘how far’
	10


